
EAN: 7350073730568

M Public Video Wall Mount Push HD Scan for info Online!

EAN: 7350073730568



2





4

Parts List

One-Latch Mounting Base -AA (Qty 1) (Qty 2)600mmX400mm adaptor-CCLeft and Right Mounting Bracket-BB

(Qty 1 Each)

M5 x 16mm Screw

 

(Qty 4)

(Qty 6) (Qty 6) (Qty 6) (Qty 8) (Qty 4) (Installed)

(Qty 4)(Qty 4) (Qty 4) (Qty 8) (Qty 1)

(Qty 4) (Qty 4) (Qty 4) (Qty 4)

A B C D E

F G H I J

K L M N O

M5 x 30mm Screw M6 x 16mm Screw M6 x 30mm Screw M8 x 16mm Screw

M8 x 30mm Screw M8 x 50mm Screw 16x6.2x1.5 Metal washer 13x8.2x5  Spacer 5mm Allen Key

16x8.2x1.5 Metal washer 8*65  Lag Bolt Anchor 13x8.2x13  Spacer M8 x 15mm Screw

Features

Video Wall Pop-Out Module is a customizable video wall mounting system featuring multi-monitor stacking, open design, 
and scissor mount extension. It has an extending scissor mount for easy installation,cable management and servicing.

Cable/Electrical Access
Allows for easy cable access 
and power distribution installations. 

Locking Safety Screws

Spring Lock
Simply push the mounting rails in to lock 
or unlock the mount from the closed position.

Post-Installation Adjustments
Leveling, tilt and in-out adjustment
knobs make it easier than ever to
flush and level the flat-panels for
a seamless video wall.  

Prevent the flat-panel frombeing removed or 
dislodged from the mount. Use for added
protection. 

Force adjustment

Height adjustment

Depth adjustment



5

Installation

Mounting to Solid Concrete/Masonry

Mounting to Wooden Studs

68mm

φ4mm

13mm

68mm

φ10mm

L

M
K

Screen Width

S
cr

ee
n 

H
ei

gh
t

L
K

Installing the Mounting Brackets

Screen Width

S
cr

ee
n 

H
ei

gh
t



6

VESA (Vertical):200*600~400*600VESA (Vertical):200*200~400*400

O
5mm

1

2

B+H/
D+H/
F/G 

H

I/N

Installing the Mounting Brackets

VESA (Horizontal):100*100~400*400 VESA (Horizontal):500*400~600*400

A+H/C+H/E/G 
H

A+H/C+H/E/G 

*For screen with 
a hole pattern in 
a pocket, spacer 
go between 
Assembly Adapter 
Plate and screen. Spacer

B+H/D+H/F/G 

H

I/N

B+H/D+H/F/G 

H

I/N

B+H/
D+H/
F/G 

H

I/N

H

A+H/C+H/E/G 

O

5mm

1

2

Landscape

Portrait

H
A+H/C+H/E/G 

H

*For screen with 
a hole pattern in 
a pocket, spacer 
go between 
Assembly Adapter 
Plate and screen. Spacer

*For screen with 
a hole pattern in 
a pocket, spacer 
go between 
Assembly Adapter 
Plate and screen. Spacer

*For screen with 
a hole pattern in 
a pocket, spacer 
go between 
Assembly Adapter 
Plate and screen. Spacer



7

Mounting the Flat-Panel

Note: 
These registers
must align prior to
installation.They are
factory set. Check 
to determine proper
alignment

Locks not included(accessory)

Post-Installation Adjustments

X

Z

Y

Adjustments  +/-Z

Adjustments  +/-Y

Adjustments  +/-Z

Adjustments  +/-X



8

Move Inward

Move outward

PUSH

PUSH

Technical Specifications

10
0m

m
 [3

.9
″]

30
0m

m
 [

11
.8

″]
40

0m
m

 [1
5.

7
″]

49
9m

m
 [

19
.6

″]
54

4m
m

 [
21

.4
″]

20
0m

m
 [

7.
9″

]

510.0mm [20.0″]
203.2mm [8.0″]

406.4mm [16.0″]

267.0mm [10.5″]~277.0mm [10.9″]

92.0mm [3.6″]~102.0mm [4.0″]
35mm [1.4″]

40
0m

m
 [

15
.7

″]

630mm [24.8″]
600mm [23.6″]

400mm [15.7″]

282.0mm [11.1″]~292.0mm [11.5″]

108.0mm [4.2″]~118.0mm [4.6″]500mm [19.7″]


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

